SM2H 4.2 HW Answers
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x-int: (3,0) & (7,0)
y-int: (0, 21)

vertex: (5, —4)

axis of symmetry: x =5
direction of opening: up
domain: (—oo, 00)
range: [—4, o)
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x-int: (=5,0) & (1,0)
y-int: (0,5)

vertex: (—2,9)

axis of symmetry: x = —2
direction of opening:
down

domain: (—oo, )

range: (—, 9]
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x-int: (—=1,0) & (2,0)
y-int: (0, —6)

vertex: (%, - 24—7)

axis of symmetry: x = %
direction of opening: up
domain: (—oo, c0)

range: [—24—7,00)

10.

10 L

x-int: (=2,0) & (5,0)
y-int: (0, —5)

vertex: (g, - %)

axis of symmetry: x = %
direction of opening: up
domain: (—oo, 00)

range: [—%9,00)
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x-int: (2,0) & (7,0)
y-int: (0, 14)
vertex: (g, — 275)

axis of symmetry: x =

T nNlo

direction of opening: u
domain: (—oo, 00)
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range: [—7,00)
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x-int: (2,0)

y-int: (0, —4)

vertex: (2,0)

axis of symmetry: x = 2
direction of opening:
down

domain: (—oo, )
range: (—oo, 0]

x-int: (=5,0) & (2,0)
y-int: (0, 20)
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vertex: (— 5,7)
axis of symmetry: x = —%
direction of opening:
down
domain: (—oo, )
range: (—oo, %)
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x-int: (3,0) & (—3,0)
y-int: (0, —9)

vertex: (0,—9)

axis of symmetry: x =0
direction of opening: up
domain: (—oo, c0)
range[—9, o)
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x-int: none

y-int: (0, —9)

vertex: (0,—9)

axis of symmetry: x =0
direction of opening:
down

domain: (—oo, 00)
range: (—oo, —9]

15. x-int: (£,0) & ,0)
y-int: (0,5)
vertex: (; —4)
axis of symmetry: x = %
direction of opening: up
domain: (—oo, o)
range: [—4, ©)

16. 12 seconds
17. 5 seconds

18. x = 20
3
19. x = +3v5
20. x = -2
2
21. x = 6 + V13

22. x =3++/15



